JAAF % 1 mfndkufE LirixiGSieEs (K&a— K : 18300301)

WAKAYAMA

E30FE4A14H (1)
L= HIFOERE RS (GRS — F : 301010)

4A158 (H)

5 WMB  #B8 141 24t 3fix 4fix 541 64it [{i] 84z
AR 148 100m E¥H EX 11.09 (-0.3) (=% #FHK Q) 11.25 (-0.3) | K HEAKREB@) 11.31 (-0.3)|IlLE BEMN Q) 11.39 (0.3 |JIlE EZ£@Q) 11.40 (-0.3) |7kE =ZE3}(3) 11.42 (-0.3)|;EEH &N 2 11.47 (-5.4) | KE FEE@®) 11.48 (-0.3)
A0 3R L BE 195 Ex REEr NS Rt AR AR = 55 B AR Ty BB
4A158 400m FT 2B&FQ) 51.32|Bt EZE(2) 51. TR XKEE(2) 51. 79| ILg €2 52.00|#0% HE—ER(3) 52. 518 1L  E (2) 52.54|FaE FEH (3) 52.5TH{EI® L KER(3) 52.63
EITE] Re By IE/NIIPN T KEYET B &5 it A BA it A
4E148 800m hE #BAK@Q) 1:55. 904£/& £ KER (3) 1:56. 20|88 2K (3) 1:57.36|FB1K = (2 1:57.9(RAFR ¥ Q) 1:58.05|3RA $hth (3) 1:58.49|&H HH(2) 1:59.92|Him B A (3) 2:01.06
N it A HEEF ENIIPN B B W RFNER L % H
4B 158 1500m #WME F£EHO) 3:56. 12|RE #FHKQ) 4:02. 58|48 @K (Q3) 4:03.09 IﬁEE ARt (2) 4:05. 63|FA R (3) 4:06. 64|)I1%F KEH (3) 4:06. 73|55 4%f E1E (3) 4:06.97(=A& @ (1) 4:07.18
HiAdT ALk K BR AR & & EHFnEL B IR HildT BA
AE148 3000m il &k&(2) 9:32. 42|F% £ () 9:38.84|t8H AIK3) 9:40.09(=# %A (2) 9:43.42|88K $(2) 9:47. 460N TRE ) 9:55.06[;8/K K®Z(2) 9:57.59{kfE HRE (1) 9:58.02
HilT N fo2)llg B HiaT K BR AR = HilT KPR A=
18128 | sooom |FE FKQD 14:47.30|8% =& Q) 14:50. 2|/ A2 2E () 15:00. 49|F#t & (3) 15:01. 48[)II% X8 (3) 15:12.91|2F =&%0) 15:13.88[38 A (2) 15:14.08|=E =t (3) 15:43. 50
I de HilT It Hi2T Il HiAdT H3T B
e 15.12 (0.5)|[KF BB @O 15.97 (-0.5)[ILE &% (3) 16.38 (+0.7)[{@A& = (1) 16.58 (+0.7)|RiE & (2) 16.68 (-0.5) [IBA& 1% (1) 16.72 (+0.7)|1t® BA Q) 16.86 (-0.5) &3 Bezr 3) 17.45 (=0.5)
K BR AR = NG 'S 3T R FIER L AT 'S [ 5 PIFR TN
4E158 400mH FrE K#(Q2) 54. 81| XKH E#@3) 56. 43|8RE =EER(3) 57.67;hE #0%& (3) 58. 65|F1% BE—ER(3) 59. 015k #1(2) 59.36|%&E & (2) 5. 41{EHG BEBAK 59.57
ks MR LU= [ R A BR AR E K BR AR = ETIPN kS HE REFy KPR A=
3 48158 | 3000msC NMNMAKrR EF Q) 0:46.45|H L  BHE (2) 10:01.79|=Lt &5t (3) 10:08. 31|{KkKH #8k (2) 10:08. 44|55 H E£(3) 10:09. 49|k B (3) 10:10. 38|HEA 1@ (3) 10:22. 34|Aim Tk (2) 10:24. 20
5 It HiJ B HiIT I FMIRLTE I e
£ 45148 | 5000mN HiE H—BEQ) 23:43.52|FHiM R (2) 23:54.29(iE:@ (1) 25:18. 711|#nA &t (3) 26:14. 00|=# #nth (2) 26:30.50| £ & =7} 3052 17
M= HiIT KX - EE REEy Il MILU<TRAE—X
4E158 | == Bt EZE(2) 1.90{mnfE F 1.75| K #E=@Q) 1.75|xH# =(2) 1.75|/Mm] B F 1.70|% % B (3) 1.70| K% &&(2) 1.6518K KX—(2) 1.60
§ REFF B B 175 HS M ML~ X422 —X PN ELE HEFF I
e, |Hth K 5008 FEQ) 4. 50
ARIAE | RERE o im KR
AB148 SENEBk NE ZEZ2@Q) 6.27 (-0.9)|EX EE(2) 6.22 (-0.1) |4t ZEf%(2) 6.15 (+0.7) Bt EZE(2) 6.12 (+0.2) [F#ER &k (1) 596 (+0.3)|h® EB— (3) 5.93 (+0.6) (811 X1 (2) 576 (+1.3)|@E& X ®Q) 5 73 (<0.6)
ke 3 KFNER L LGS AEEy 'S I T [l 5 it A
4B 158 = Eg Bk TE BEQ) wi4.10 (+3.8)|3FE FIA (3) wid. 74 (+4.1)|BE KXE(3) wi3.69 (+3.5)| K81 FlE Q) wi3. 57 (+3.4)|#H % @3) 13.50 (+0.8) |#Z® &— (3) wi3. 25 (+4.4)|F01H =KX wi3. 16 (+3.6) |FZZE [Ei&E (2) wil.96 (+2.5)
T NG NG KBRARE Ik g4 Mk T RLHE FEIxLde
~ |BAR EME 15. 48
4815H Atz F—s T
. |BE BZ 34.96
48148 N5 LT R A — 2
4B158 P A% 5L (3) 58.50(ARZE HEX (4) 52.70|F O #|E(2) 51.52|&# EHH () 51.31|f#2@ 28k (2) 49. 37118 FE#EB 47.88|xt7k Hth(2) 46. 10| EA B (2) 46. 50
IR Ie FEXLL XK g4 3 KA H14 MILU<TRE—X AL z:pul
48158 | mniz A B (3) 14.83|1#F B 12. 77\ K81 #(IE (1) 11.28|#&# HHE(2) 11.26|5%k HE (2 11.06| 55 XiEQ) 10.55):3)1 8 (2) 9.90|tk Hth(2) 9.15
= N HS EITE] HoREE B & Ho R EE HS ALk
% | ,aum | mee P BO 38. 20|55 FifE Q) 35.67|3EA A (3) 35. 38| KA1 &K= (1) 35. 36| A B (3) 33.33|&H EHE(3) 33. 28| &M (D) 32. 3IE &% (D) 26. 67
5 HS fCREE HE FExik EITE W RFNER L fCREE 'S
El AB148 | nuv-1% MA HEQ) 59. 591l R (3) 51. 06K E B& (3) A7 45|FhiE PR (3) 43. 69| KT #8572 42.96|EEH FR(2) 36.24|EAAK HIF(2) 35.53|F)l &\ (2) 33.42
* |f03LT I T FExie F K o REE B FIxLAE BHS
4B 148 110mH MA [EXKQ) 16.71 (-1.8) |&H & () 17.57 (-1.8) (BaI&R ¥ (3) 18.30 (-1.8) |FW HER () 18.66 (-1.8)|EHE 18 (3) 20.80 (-1.8)
R =iE T iR =iE oz )ld
th 4B158 | EiEDBk e REEOQ) wb. 68 (+2.3) [1EE& HE () 5.33 (+1.8)|kiE finth (2) 5.30 (-0.2)|luAX EH(3) 5.26 (+1.5) |HAERE H&8EQ) 521 +0.7 @ &EX©Q 5.21 (+1.8)|®WlL BE (3) 517 (<0. ) |@EA %% (2) 515 (+0.5)
= st eh ik BAF0 75 ;& BEfH o2 )lg LR Bt
5 48158 Fa 13 axK FH Q) 13. 38|+t E4& (3) 12.75|& JIL—X(2) 11.98[AK —£ () 11.57(F N ik (3) 10. 13|fEXR  RE (3) 9.02(3K #dR(3) 8.79\FAF HELE @B 7. 69
F * |lEgpeEsRNLY S Yl R = iE F KBt e AR sk e HEH
sg14E | me | 7V—2Q 20.12|8% EH4(3) 27. TA[IBX  fi#5 (3) 26.33|E+H #E Q) 21.42|F) EFEQ) 20,671 FWQ) 20.15|FhE 1B A(3) 17.40|B% B2 Q) 14.75
I R h =i ATt e =Yl BEf ebian REH TEF
82| 48158 toom | B (D) 19.89 (+0.4) Az =K() 20.31 (+0.4)(1luO &A1) 20.42 (+0.4)|#t1L $EE (1) 21.01 (+0.4) |3t/ %2 () 21.13 (+0.4) | =& () 21.85 (+0.4)
BB T &F EB a1=7AC D MHAC FIBFT &F D M #HAC & B\
mEz| 45158 100m no GE®(2) 18.37 (-0.1) [ ==4F(2) 18.84 (-0.1) (#riE F® (2) 19.22 (-0.1) |¥=2HE —E(Z)_ ‘ 19.26 (-0. 1) |sx& #EFE(2) 19.30 (0.0) [LLE XKZ=(2) 19.49 (-0.1) |#HE ZEKQ) 19.59 (-0.1)|&E 2£(2) 19.63 (-0.1)
FIHT &F 2 DEAC G T &F MILELESY 5D D M #HAC L DEAC #HDEAC D h#HAC
T T oom  |EE_AEQ) 16.18 (+0.9)[EA Q)  16.33 (+0.9) (B BAQ) 16.34 (+0.9)[luO  #X (3) 16.90 (+0.9) @ BF (3) 17.43 (+0.9)[Z f#ixk Q) 17.45 (0.9 [/NE B% Q) 17.69 10|52 BN Q) 17.86 (+0.7)
2 DEAC fIuELEY 52D BETRAYY—F D M #HAC F2 D EAC L DEAC BREATRAYY—F EHYa1=F7AC
MEZ| 48158 100m IRT  UEAXREH (4) wi15.30 (+2.8) |luA §5§(4)_ ‘ wib. 44 (+2.8) |i&JIl HEE (4) wib. 72 (+2.8)|EH =EN @) wi6. 16 (+2.8)|JIl L #BAXEA (4) wi6.29 (+2.8)|JIlE B XEH4) wi6.45 (+2.9) |&+ @K 4) wi6.70 (+2.8)|FEE EH (4) wi6.74 (+2.8)
2 DEAC MIblpELEy 52 2 DEAC BEMS C ARA I ARA ] D M #+AC L DEAC
AF158 100m RA % (5) 14.57 (-0.2) |#%&/M  FIE (5) 14.75 (-0.2) (#*:B 1G% () “ 14.92 (-0.2) [#8 {F#& (5) 15.22 (-0.2) |lIUxR KZF=(5) 15.40 (+0.9) [ & (5) ) 15.43 (-0.2) [/MIl  =$EEE (5) 15.51 (-0.2) |5l #&& (5) 15.65 (-0.2)
NEBF %E(DEIAC %EOBEIAC MILpELES 52 2 DEAC EH >a1=ZF7AC MILpELEy 52 D M #HAC ¥ DEAC
4A158 goom |12 FE (5) 2:48.52|F1E AKG) 2:54.96|ILK  KZE(5) 3:00. 89#E {2 XAER () 3:22.30|f% X#(5) 3:56. 48
L DEAC MIlpELEs 52 EHYa1=F7AC MILpELES 52D 2 DEAC
AF158 100m rH ’f%ﬂ&(fi)_ . 13.07 (+0.8) |[[E& Jt& (6) 14.16 (+0.8) |A=E ﬁ:l'ﬁ‘(ﬁ)_ . 14.28 (+0.8) [#0 558 (6) 14.39 (+0.8) |A %7 EI'I‘E(G)_ . 14.88 (+0.8) |EE =EK(6) 15.09 (+0.8) |F&HE B (6) . 15.22 (-0.6) |stA& =EZ£ (6) 15.59 (-0.6)
NEBET *D%klllﬂi:t777 ﬁ":EO)EIAC *DE'IXIJJ[SEJ:’J77 2 DEAC MILpELES 52 @b\}}AC _ *DEZIJ.I[EEJ:’JH77 %E(DEIAE
48158 800m AR sﬂﬁﬂ (6) 2:32.76|5x K =% (6) 2:33.74|=H #1(6) 2:35. 62|24 IELK(6) 2:43.16|=H E(6) 2:45. 711|152 ’é‘EIL,\ (6) 2:50. 79| KER RiE(6) 2:52.10(7%H@E B (6) . 3:00. 44
EHYa1=7AC L DEAC L DEAC fEMS C L DEAC Team Arai EFE#S C MILpELry 52
woens| 4158 | soom  |BH HEAM) 3:02.22/H R (4) 3:02. 54(HJF K (4) 3:05. 7T4[dbAm 3R (4) 3:06. 48| )1 g (4) 3:08. 7T9[/NBF %% (3) 3:17. 47| KA EL(4) 3:22. 18|[H  #th (3) 3:23. 13
BEAR S C FLDIEAC FLDEAC DM FAC D H>FAC WEr 7 A Y — k B S C D H>FAC
w (wind assist) : BEASE

1 R=




JAAF % 1 Efn3kLpE LiRixineiciEe (KSa— K :18300301)

FE30FE4A158 (L)

4A168 (H)

WAKAYAMA
w5 we | &8 16 2 36 o S o %Ez#fi;ﬁﬁlﬁﬂii% (ﬁﬁﬁ%:;ﬂl‘ : 301010)
BN BEQ) 12.35 (0.8 53 Tx o = . . - :
4A14E | 100m (B ( ﬁﬁé HE (2) wi2.75 (+2.9) %ﬁmimm 12.80 (-0.8) ﬁﬂkﬁiﬁl@) 12,81 GL.O)[ATS BEQ) 12.86 (-0.8) [l WEx (1) Wi2.94 +2.9) 2@ BZ=() 12.94 (-0.9)[@ =0 12.96 (+1.8)
1A158 | aoom |B_FEG) 1:00. T4[L &I Z5k (2) T:00 83[F T BE (2 0T 53| WEQ LA A _ALOENC EIIELS 50
==By)] SF A FITR L o, : ﬁﬂ’_’é Ul %;m%*ﬁ(@ 1:02. 05 ;ﬁﬁ‘i %42 (3) 1:02. 35 *%ﬂ MmET@Q) 1:02. 93|/ EZ(2) 1:03. 86
BE BEH Q) 218 52 lLA FEQ 719 35E B : = . [t : Al nERILIK BT
4A148 | 800m ﬂ@mt fel W%am;z(m 2:24. 91 gg HE Q) 2:26.87 ;ﬁim;ﬁmm 2:28. 46 ﬁ“g HLY Q) 2:28.53 I;Ei ) 2:29. 34[F Hek (2) 2:29. 79
IhNE BER(Q) 443 37|85 = Q) 443 0| EE = - ; 3 : = : Gl _ i FO KBt o
4A158 | 1500m IFMQE S e df\éﬁ ) 4:44.08 ig*ﬁg,ﬁ 3) 4:44.59 %%m%@ 4:15.87 E@m;ﬁigﬂ %) 450,37 iﬁmﬂgﬁ(g) 75T 09/\E HE Q) YRR
BEZ(2) 10:37.57 = : o : =TT : e AL I TiEE=
4A148 | 3000m |2 " g;;;q:%aars (3) 10:48.17 *ﬂng (S E) 10:48.91 :rg%m RE (3) 11:06. 62 ?uiﬁmé@é;4x 11:16.80 ;JE;%I #EQ) 11:18.82[=%# ZH2 11:24.09 J:tt'.%Ei(Z) 11:38.02
hE UL 491 (1.H|KE BRFA 15.13 (-1.4)| A5l fAE L = L i Bl a5
sR14m | toom [FE VLA A¥ EBFW (-1.4) %; BEQ 15.53 (-1.4) Egmiqqm 15.79 (-2.5) ;;; & () 16.70 (-1.4) fi;'i F71 Q) 16.73 (-2.5) imﬁ* B (3) 757 (T H[E Brd 17.52 (-2.5)
BRK FT05HW 1:05.02|20 #% Q) 1:08. 80| KIE T ATE : =i 7 : . AR Ey BR R & * PR AR S
4R158 | doonH | 2R ST kil 3.55 HFREQ) 1:09. 51 Eﬁgmg% (3) 0. 8TEE F7 Q) BEUIGEEEIR 113 19| & K3k Q) [BERAP-E TS 160 113.99
W 48148 5000mW fj;m:éz%% (2) 27:14.85 = ey HE BS H 32
3 ng
E %%m;ﬁ 1]0&? 785 (2) 1.60|HE =KW@ 1.60{IRA Him®) 1.55|5# U7 Q) T 55T =& Q) 770 —
T | 4AE | rey EEER AT LTS ifliE B IARBLL g | S o
H &Fx(@2) 1.40
1F1E | wan B8 FEEO I0EE ZEQ 3.20 i
Gl KPR AR S
agiag | wEm [P TED e ( (+0.2) Egmimn w528 (+3.2) ?%‘Ef,- & (3) 5.15 (+0.6) ;ﬁ;mggﬁn @) 5.10 (+2.0) ;&(?‘E%FEZ‘Z(S) w509 (+4.5) (&) BE (2 5.01 (+0.5) &K ZZQ3) 4799 (+0. %)
—engy |BIE  FE (3) 11.59 (+2.8) |&#%E = =\ 5 ~ = 2 DI 5 iElE
4A15A | =B | W +2.8) ﬁﬁﬁ%g & (3) wi1.29 (+3.0) %E%L: EEYE) 10.97 (+1.7) ;L\E =10) 10.79 (+1.8) Egmiqq ) wi0.72 (+2.6) ﬁg EZEQ 10.65 (0.0)[X& & ©Q) 10.60 (+1.2) ;"ﬂgﬂ‘ &1t () 10.52 (~0.4)
n |BR EZ(Q) 13,0853 ==Z @) 0 HEA == e oL ki /IR e EEYELFA - BE
4A158 | mag (51 ERO oA 2w g; = (3) 12.37 ;;&m%m ®) 11.75 F‘;%in BE () 8.06 Azbéli EQ) 7.58 ;ﬁ‘EJII ) TR EEG) 7709
wm BB BEQO) 36. 58|58 BE Q) 36 27[Iak =5 (1 e GO AREF LS BEE
4AR148 | MEH *E’é*ﬁﬁ% bR AR E?;;tgjc(-)ﬁfi 35. 73 %&ﬁ%ﬁ@(z) 33.10*&% E6) 32. 85 ;Euz;mgﬁm) 31. 41 Eiﬂ% BE () 30607t & EHED) 58770
\ I Y 2 i3 = @y, — =l g 3¢ = .
A | v [KEF BEO) THER FAO FHEE A5O ABEE BEO Tl EEO 30 64t SR D ERTI =
MEET RS () B oi(EE KEO 1185 = , HEREE BE
48158 | vy A = R e i@*ﬁﬁgzw) 32. 91 Eé;b:ﬁﬁ]g;(s) 32.48 ;%gmgﬁ@) 30. 49Nl #E (2) 30. 37 i%zg == (3) 28 10| T & 2) 58 13
4g148 | 1oomy |MHE EBE) 16.69 (-1.D[@Il F1E®Q) 17.01 (1.7) %@ BEQ) 713 (1.0 |58 =WO 1708 (1.0 |E8H 0BG KR L . i A
ch 9 7] =i o . %W$m . . gé¢0&() 1&m(4j)§¥$%¥&) 1&%(47)§%¢DBB@) 19.18 (1. DBz 125» (2 19.30 (-1.3)
F cop |SERE SEEE(3) W5.10 (+3.0) [RR)Il e (1 _ 5 E ——— = — SARE i filan
& | 4RT0B | EMERK oo %EGDEIABCE)*() wo. 04 (+2.2) %gﬁ;*%(z) 4.84 (+0.6) f%é;x:q:’% (3) 4.76 (+1.5)[lLFE #HF (3) WA. 74 (+3.5) [+ ZE 3R (1) w4 63 (+3.5) |EH E#H(2) 4.61 (+1.4) i{%EE =$ () 4.51 (+0.4)
T | 45158 | mum [BA ERQ) 11088 B/xQ) 0.04|a% EHQ 8 78|ch4 B () 7.06 "ﬁ?%*;;(z) AR LB s EHE—h
7 o g = Pl  |mme s e PARERO a3 EE Xm0 .40
mxz| 48158 | toon gl FHE D R el 19.78 (\1. D@ Fifd (1) 1987 (T D[Nl D& D 02 G N=2 ZED TR T TRE=T L
Pl T & F # MIPuLpELSH 5D Bl ' '
INTES10) wi6. 71 G2 D@ F5©@  wis. 4] 2.1 ES 1%%(2)7 18.63 (+1.3) ﬁ%T%u;z%(z) w19 07 (+2.1) DI EE MK Q 19.22 (+2.1 =
mxz| 48158 1o0m [ RBFHAC MILELES S D L3 DEAC @oEAC *DlE’kIJ.IB*lJ:O‘j‘ wiv. +2.1) ;"iﬂ %E(Z) L 20.87 (+1.3) R?H'E x#1(2) 20.97 (+1.3)
IR £30) WG 07 G TERS MELELY 57 AT &F
___ MIuLpELy S5 D
i FH O®FEQ) 17.17 (+0.9)[X& BRIk (@3 _ T == = S
h3%F| 4B15E | 100m | E%Té%“ 18.64 (+1.4) %;ﬁit)zzggc 18.69 (+0.9) Eﬂggﬂ;;m 18.71 (+1.4) é@uﬁ?zé(s) 18.79 (+0.9) éETa&%@) 19.01 (+0.9)|=%F #&H Q) 19.22 (1. H[EHF EEBQ) 19.48 (+1.4)
i Heh #F%5 @) 15.78 (+0.5) =L ZiF (4 _ =¥ = o rler 1 D 7+AC DM HAC
MxE| 4R15E | 100m (oo Do %%m@i;gj 15.98 (+0.5) Q%ET%*F” (4) 16.60 (+0.5) EEACPJ*/M) 16.93 (+0.5) %gmiﬁﬁ 5 16.99 (+0.3) %*'lfﬁﬁ @ 17.00 (+0.5) [&HHs HE&K (4) 17.16 (0.3)[a FEAE® 1717 (0.5)
A =M (6) 15.00 (-0.4) [7EA #HZEG - = = - = - AR/ I 2N MEFLELESY S T #2 D EAC
o 4R158 | 100m | >g§®@§€*<> 15.28 (-0.4) %gmgi@% 7‘ 15.78 (-0.4) %Z}im?ﬁg’)- 7‘ 16.10 (-0.4)[foE 1&E (5 16.22 (-0.3) [lBH Ha& 6) T6.25 (0.8 |0@m BEG 16.30 (-0.4) Kl =G 16.31 (-0.4)
4E158 | 800m aTiIEJ %%(5) 2:49.96 ;gzk EI 2:50. 07|58 ZEHG) T2 06/ER R (5)7 3:03. 64 Zé’f"ﬁ%)@ 3:07. 86 ﬁg%@%ﬁi (5) 3:08.57 HBUELI 92 DA
eam Arai nFEES S I T 1L Bk 5 J Sa= ' z -5 o o - — s
48158 | toom |TAT AIFE) 13.83 (+0.4) Jﬁﬂﬂgi‘ﬂ%%)jj 1417 (+0.4) Eém[géé)?j 14.25 (+0.4) gi /i;g)AC 14.37 (+0.4) mﬂémnifajj Ml =75 J
NETF HFLELES 5T HMILELES ST APLBELH S5 T ' BFEENTIY | ' ,?EG;EE"‘(G) 14.62 (+0.4) L7 Hp(6) 14.80 (-0.5)|H %= (6) 14.82 (-0.5)[&A BEE (6) 14.85 (+0.4)
1A158 | soom |78 AR S s 74T IO BK () 748 75518 & © 248, T5|@Kk_ BEE () T OTEe EED RTRTIE QRN
rai oa=ZF7AC A Al /N ERS2=F7AC . %':EODIEIAC 49015 5 . 2 06.
U B O 4) 2:56. 41| E8 @ ; o . : = : L MIRLELED S5 D
4A15E | 800m |5 §§Ac ¥ (4) 3:02.04 T:aszArf%%M) 3:10.84[D #07E (4) 3:13.39|&H EX@) 3:25.38|=% W1&H () 3:39.34BH =TFQ) 3:44 14|H L &E®4) 3:46.57
w (wind assist) @ BEASE fEthS C HRELD S D D HFAC D HHAC DHFHAC '
= 3 SR EREK % % z ~
jg 148 9:00 %In 17 oC ﬁz{;;/ A £ Ekﬁfmg =
) 148 | 10:00 =D 19. 0 44 '
A et A N 2 ey
. ] .0 46 — . N
5 Cipis e 5 19.0 16 i 0.9 SV OBHER: PR BA
/ : £ 19. 0 22 _ SeEny . :
i mmi o 5 22 T T L1 Z4—IVFEHER: KF X
: 5 .0 34 ‘
Z [HaHs | 170 0 13.0 83 imt T BRTEEHER: HL =H
. 5B 12.5 83 b ] = . sls L
; jglgg }(1)588 gg 12.3 1 jlé ?é EEﬁEE . P ﬁ%glk
; B 15. 63 it 1.5
3 4815H 12:00 =0 16. 0 69
v [[4A158 [ 13:00 i 17.0 44 i%i ?2 FiE - MRLUELRBERS
ZE}EE 14:00 Sl 15. 0 48 kY 4.1
H 16:00 i 14. 0 43 L& 2

2 R—o




